e

4

% QUADRATIC-LIKE

2% (3x-4) +i(3x )
(2 x 4 13[3)("‘]')

5.3 Solving Polynomials %
DIFFE Always check for a GCF first!
OF S(glEJl\/g\(R:ES Perfect Squares: | | ¢f 9,1p,25 1 dle, 49, 4, !, 100, 1),
) rue: (1% 6% (v 0~k )
a® —b? 1. 4x* -9 2. 10w’ — 10w
(ax®+3)(ax°-3) low(wt-1)
low (w DW= 1)
(OwW (W OD(WeIYw=1)
QUADRATIC |3 sz" x—4 AL E %‘] 4, x?+x—42
TRINOMIALS | lox - Bx}3x -4 -8, 3 (Xt ){)( -l )

TRINOMIALS

ax* +bx®*+c

5. x*+2x2-24

(x%v Xx* -4 )
(x ‘v X% +2) (X -2)

6. 3x* 14" =5 =15
~
’3><'*+!5x‘{:x3’~5 15, -1\
2 (x%F5) -1 (x5 )
(3% 1) (x*t5)

Perfect Cubes: | § 271 (44, 125 A1k, 393, 513, 7199 )

Rule: ) +b3' (asbdla’ ab tb>)

7. x3+8

a=x b=2

K2 x=z2x 14)
4 o AD

8. 64x3 +1

A=t b=

("fxﬂ )(bxz._ yx * l)
o AP
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DIFFERENCE Trams A2or 2= (1 2 5 b 70"
OF CUBES o b”= (a-b)(a HieD -
@-p |a=x b3 a=5% b=l
o, (x5 +2) | (g - 1)(emetxt 1)
S/ ° S o AP
4 TERMS 11-x3—4x2'r9x+3e 1525 — 165" | 72 - 63
(% -1 —9(x %) 7_Xq(x -9) H(x-—"l)
%qbﬂ?'nos (x*-a) (x-4) (2xte1)(x-9)
(x+3) (x ~3)(X~+)

Solve the following by factoring. Simplify all irrational and complex solutions.

13.(2 - D2 +4) =0

14.%5 + 4x3 = 5x* — 2x3

(x*-4)(x*+4) =0
() x-2)(XH4) =0

i Y -D[ 44 o XS‘;SX* tox> =0
St (=0 | X1 =0 X 4= 0 X3(x%-9xt ) =0
- X=I x = -4 %> X'3](X"ﬂ:o
X7 x:tm X;"O X'St() X-2=0
X FEJd¢ i
Xzt 0t x = olmutt 30,3, 2
15.x* =16 16.x3 = 8x — 2x?
X-1p=0 x> 1o --Bx = 6

X( y*+ax -8)° 0
x ('x +)Xx =) 56

2 v= &y ;28
NJ:D)X_J"—OI X =0 Lol + |
2y
PN
Y=, 3, tAc
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;|17 x(x* +8) =8(x + 1) TN T 18.x" —9x2 + 14 = 0
X+ B x = & o 2 z
@ X TBx=&xr¥ '\, 5% | (x*-7 Wx*-3 )=0o
= \3.z-0 /Wr(’ . e
(x-2)(x"rax +4) =0 X ’:"'0 e
N ~e=0O| X*tox 14=0 ¥ =" ]
- )(3‘\;)\ :—"‘"-‘ X;‘:ﬁ
_[X X%kax t[= 4+ )
(x+1)*= -3
X"’l:t\r‘% (Xz_liﬁi I Xlztﬁ‘j‘@
19.x ;6x2=i7 B 20.x3 4+ 2x2 4{9x + 18 =0 q)(oupmck_
X 'tx =277 O x"(y{—z_) tA(xt2) =0
Y & _ =
(x?ra)(x°-3) =0 xR a)(x+2) =0
e —
X**az0 | X73%0 19=0 | xta70
W =-4 X"=3 X'z =9 X< -
Xz ¥y 9 x=£§3 w2t
& -+ a7 W=t »
'3‘ St X;i‘ai\tg F At Y:""O):tgt
21.Find three consecutive integers whose proggct is 480 more than their sum. /6‘—}
K, Xtl, Xt+2 .8,

G D) (x43) = X [+x42 +480

X(cteanra) 22> 0483 e &
X3 £ 2 Ep Ox = Bt 433 SN Wﬂﬁ}a/ =
3P - -48350 O mf

22.The Perez twins were born two year after their older sister. This year, the product of the three sibling’s
ages is exactly 4558 more than the sum of their ages. How old are the twins?

’TW\“S - X) X
SlS’ref'Q R+

}((XIY‘\'&) = Xt XEXED Y1558 '“Cb U e
e (2 = Ix+45k 0 it Wl foc't \ j\r
L)"’/"A"L W2 rax” - ~H+SWO=0 O

%
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